Please store with ATV Manuel

Arctic Cat XR Deflector TRL-12

Read all instructions prior to assembly

Step 1 Install U-clamps to the handle-bar with conical washers as shown on the picture below.

Step 2 Install left and right, upper and lower supports, on ATV Windshield base. Do not tighten, keep
loose for later adjustment.

Step 3 Install the windscreen, on windshield base, by using the 6 dome-head screws, 6 rubber-
washers and 6 cone-nuts.

Step 4 Install mirrors by using drilled holes on deflector base. (Read instruction enclose in mirrors
packing).

Step 5 Fix the windshield to the U-clamps, already mounted on the handlebar, make adjustment to
prevent rubbing when you turn the handlebars. You can, if necessary, adjust the angle of the
handlebars to lift-up the windshield




Vip-Air inc reserves the right to repair or replace free of charge, parts judged defective due to manufacturing or raw material defects, with a part of
choice. VIP-AIR also reserves the right to judge damage is due to abusive use on behalf of the consumer either through improper maintenance or
handling. VIP-AIR inc. is not affiliated to any ATV marks

Parts
Deflector Arctic Cat XR MODEL TRL-12
Ref. # Number Description Qty.

1 # according to color Deflector base Model TRL-12 1
2 54-999-XP 6 holes clear windscreen 1
3 54-VIPA-1 Hex bolt ¥2> X 5/8 L 6
4 51-811-15 Upper left Support 1
5 51-810-15 Upper Right support 1
6 51-834 U clamp 7/8" 5 holes 2
7 51-999-12 Conic washer 4
8 51-812-15 Lower right support 1
9 51-813-15 Lower left Support 1
10 51-999-39 Hex Bolt 3/8” X 1 3/4” 4
11 51-999-22 Flange nut 3/8" NC 4
12 51-999-37 Bottom socket round cap screws with 6 hollow side 1/4 - 20 NC x 1/2" LG 10
13 51-999-35 Flange nut '2”” - 20 NC 8
14 VIPA-2 Y, Cone nut 6
15 54-116125-001 Rubber washer 6
16 51-20565 Mirrors kit left and right 1
17 54-CL-10-PPK-1 Quick release nut ears

—_—

9

Vip-Air Inc. 25 avenue Coté, St-Ephrem , Beauce, Québec, Canada, GOM 1RO admin@vip-air.com



mailto:admin@vip-air.com

A CONSERVER AVEC LE MANUEL DU VTT QUAD

Déflecteur Arctic Cat XR Modele TRL-12

Lire toutes les instructions avant l'installation

Etape 1 Installer les deux collets aux guidons avec les rondelles coniques tel que montré sur la photo.

Etape 2 Installer les supports, supérieur et inférieur, gauche et droit, & la base du pare-brise. Ne pas
serrer (Garder desserré pour ajustement ultérieur et final).

Etape:3 Installer la visiére a la base du pare-brise en utilisant les 6 vis a téte bombée, 6 rondelles de
caoutchouc et 6 cones écrous.

Etape:4 Installer les miroirs, a I'endroit désigné par les trous percés, a la base du déflecteur.
Lire le guide d'installation inclus dans I'emballage des miroirs.

Etape:5Installer le pare-brise aux collets, déja montés au guidon, ajuster le pare-brise de facon a
éviter le frottement lorsque vous tournez les guidons. Vous pouvez, si nécessaire, ajuster
I'angle du guidon pour remonter le pare-brise.




Vip-Air inc se réserve le droit de réparer ou de remplacer sans frais, a leur choix, toute piéce jugée défectueuse en raison d'un vice de
matériaux ou de fabrication. Elle se réserve aussi le droit de déterminer si une mauvaise utilisation en a été la cause, soit par manque
d'entretien, mauvaise utilisation ou une utilisation abusive de la part du client.

F1eces
Pare-brise Arctic Cat XR MODELE TRL-12
Ref. # Number Description Qty.
1 # selon la couleur Base de déflecteur modéle TRL-12 1
2 54-999-XP Visiére Claire 6 trous 17” 1
3 54-VIPA-1 Boulon ¥2” 20 NCX 5/8° L 6
4 51-811-15 Support supérieur Gauche 1
5 51-810-15 Support supérieur Droit 1
6 51-834 Collet 2 Noir (5 trous) 2
7 51-999-12 Rondelle conique 4
8 51-812-15 Support inférieur droit 1
9 51-813-15 Support inférieur gauche 1
10 51-999-39 Boulon a téte hexagonale 3/8” X 1 3/4” 4
11 51-999-22 Ecrou & bride 3/8" NC 4
12 51-999-37 Vis a pans creux ronds avec 6 cOtés creux 1/4 - 20 NC x 1/2" LG 10
13 51-999-35 Ecrou 4 bride %4> - 20 NC 8
14 VIPA-2 Y, Ecrou conigue 6
15 54-116125-001 Rondelle en caoutchouc 6
16 51-20565 Miroir gauche et droit 1
17 54-CL-10-PPK-1 Ecrou d’attache rapide 2

Vip-Air inc. 25 avenue Coté, St-Ephrem , Beauce, Québec, Canada, GOM 1R0 admin@vip-air.com



mailto:admin@vip-air.com

